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I 4 hobbii

Materials:
1 2009 skein Dolce Cashmere no 08

Needles size 2 (3 mm) for the hat
Needles size 4 (3,5 mm) for the scarf

Measurements:

Hat, Circumference: 19 (20) 21 in, will give
a little.

Scarf: 9 in wide and approx. 45 - 50 in long,
or until you're out of yarn.

Buy your yarn here:
http://shop.hobbii.com/taks-hat-scarf

Tension:
23 stitches to 4 in when knitting garter stitch

on needle size 2
22 stitches to 4 in when knitting garter stitch
on needle size 4

Pattern notes:

Knit the hat first, this way the scarf can be as
long as the remaining yarn allows.

If you wish a longer length, use 2 skeins.
You start knitting at the peak and the
increase until you reach the desired width,
then continue straight with in- and decreases
after which you will decrease until you have -
stitches left.

The whole pattern is knitted in garter stitch.

Social media hashtags:

#hobbiidesign
#hobbiitaks

Enjoy!
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Hat

Cast 3 stitches onto needles size 2 and continue in garter stitch.

Increase 1 at the start of each row like this:
Knit 1, knit 1 into the loop between the next 2 stitches, knit the remainder of the row.
Repeat this row until your work measures 8 (8.5) 9 in along the edge of the increases.

Now knit the length of the hat like this:

Row 1: Knit 1, knit 1 into the loop between the next 2 stitches, knit the remainder of the row.
Row 2: Knit 1, knit 2 together, knit the remainder of the row.

Repeat these 2 rows until your work measures 19 (20) 21 in down the longest side.

Now decrease 1 at the start of each row like this:

Knit 1, knit 2 together, knit the remainder of the row.

Repeat this row until you have 3 stitches left.

Cast off.

Sew the hat together at the short edges. Sew a thread alongside the top, tighten and weave
in end.

Scarf

Cast 3 stitches onto needles size 4 and continue in garter stitch

Increase 1 at the start of each row like this:
Knit 1, knit 1 into the loop between the next 2 stitches, knit the remainder of the row.
Repeat this row until your work measures 8.5 in along the edge of the increases.

Note: Weigh this increase triangle. Knit the scarf straight until your skein weighs the same
as the triangle. Now finish the scarf with decreases. This way you will use up the whole
skein.*)

Now knit the length of the scarf like this:

Row 1: Knit 1, knit 1 into the loop between the next 2 stitches, knit the remainder of the row.
Row 2: Knit 1, knit 2 together, knit the remainder of the row.

Repeat these 2 rows until your work measures 19 45 - 50 in down the longest side.

Now decrease 1 at the start of each row like this:
Knit 1, knit 2 together, knit the remainder of the row.
Repeat this row until you have 3 stitches left.

Cast off.
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